
BFLEX.COM/1
COMPACT SINGLE BARRIER

BF M12X250

WASHER M12

NUT M12

CUP 100x100

M12X30

SHOCK ABSORBER 
PAD BFLEX

GRS BFLEX

BFLEX COMPACT HO

S12x150

POST BFLEX COM/1

 CENTER TO CENTER 

 TOTAL LENGTH 

 86  86 

 1
50

 

 4
50

 

 4
55

 

 8
0 

 140 

 1
40

 

 172 

 100 

 1
00

 

 1
72

 

E

C

A

ESTRUSIONE MATERIE PLASTICHE

HEAVY LOAD /
FOR FORKLIFTS



WALL

pag.1

2 3

5 6

GUARD RAIL - ROD 70 INSTALLATION

4

2/3

87
m

l

Ø10 mm

The distance of installation depends 
on speed and weight of vehicle

WARNING

MIN 150mm*

1 2

BFLEX.COM/1
ASSEMBLY INSTRUCTIONS



Ø10 mm

130 mm

6

9

7 8

543

BFLEX.COM/1
ASSEMBLY INSTRUCTIONS

BFLEX.COM/1
MODULAR

BFLEX.COM/1
MODULAR CORNER

Ø12mm

19


